SOLUTION DE LA PARTIE n°17

REUBEUX H6 106
PAPOUNET 11D 98
GRIMPEUR D7 76
LORSQUE 15A | 109
RIZETTE | 3 81
BASILIC L9 91
JERRICAN 3G 100
MAALOUF E3 82
YEUSAIE 0?2 119
M(O)NOKINI 14G 91
DIVETTE C1l 79
GLISSADE K1 70
ELDO(R)ADO 1A 140
VANNETS N 6 87
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SOLUTION DE LA PARTIE n°18

TE(L)EFAX H6 | 106
URIDINE G6 | 90
COMITAT F6 | 112
ECOSSES 13 | 83
ANTIPUB 2C | 75
ANAGRAMMES | 11F | 76
BIZNESS 13A | 109
KEROSENE O7 | 104
ECHOTIER 4H | 80
NIAOULI 3A | 81
ATYP(I)QUE 14H | 140
GALVANO 15C | 94
DEFILEUR M1 | 76
NULLARDE A3 | 80
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